
 

 ( النسب المئوية 1 – 11)بند :ة عشر دة الحاديحالو

 

 السؤال الأول: 

------------------------------------------------------------------------------------------------------ 

 :الصحيحة في كل مما يلي الإجابةأختر :  ثانيالسؤال ال

 بالمئة= 04

  %4,0  د               %044ج                  %04ب                      %0    أ     
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 044 

  %4,7  د               %744ج                  %74ب                      %7  أ       

التاريخ:        ......./ .. 6 الصف:                    ................................................. :ةالطالباسم 
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